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The first Slovene experimental phonetic studies originate in the phonetic institutes in Paris
in the 1920’s, conducted by Jakob Šolar. The technical device in the study on the acoustic
aspect of sounds was a chymograph, on the articulatory aspect— an artificial palate and a
camera. Šolar’s publications are few, the most important is his review of Bezlaj’s book Oris
	
����	��(������+��(���$(�����. Another source of Slovene experimental phonetic research is
Prague University, where France Bezlaj was trained as a phonetician. In 1939 he compiled an
experimental phonetic description of the sounds in the Slovene literary language and of the
tonemic accent. He already used skiagraphy (not only palatography) in articulatory phonetics,
while he analyzed acoustically the tone and length of Slovene sounds and accent by using a
chymograph.
	�<��8���%���������D������D��2����2J4�graph in his research of Slovene tonemicity in

various tonemic dialectal bases (Carinthian, Upper Carniolan, Inner Carniolan, Ljubljana, and
Lower Carniolan). He considers the main difference in tones the height of realization: acute is
a lower, circumflex a higher tone. In 1961 Ilse Lehiste from the University of Michigan ana-
lyzed the formants of Slovene vowels and the dinamic accentuation with a sonograph (“The
Phonemes of Slovene,” submitted for publication in 1958). She analyzed units from shorter
sentences of the type tipa &O"�����	�N(��/��&�. She used a wide and narrow filter (in the latter
she marked the seventh harmonic tone for presentation of sentence intonation).

In the early 1960’s, the author of this article at the Phonetic Institute of Hamburg Univer-
sity studied Slovene sounds based on the recordings of speech analyses of basic tone on a
Grützmacher-Lottermoser recorder. The focus was on sentence intonation and the tonemic
accentuation of words. The images of the analysis were produced in Barunschweig. The work
was financed by the Humboldt Institute. This study was continued in Ljubljana, based on
acoustic recordings from Hamburg. Its focus was on the sentence-phonetic contrastive realiza-
tion of the two tonemes. The articles with the findings were published in �
���	&�"���������/
Q$��4�����������4�5�������������������������+�A:1��CC����.��Q"�������������2�����4��R�+�A:=�
1=����.�� Q)�������������<��� ����4������ ������� 7��������������R� +�A=A�� �:����.�� Q>�������
��������� �� ���4���R� +�A10�� A� ���.�� *2�� result: the tonemic opposition is based on height
difference in stressed vowels in affirmative as well as in question-sentence intonation, in
cadence, semi-cadence, and in emphasis or enumeration. For an article about the formants of the
Slovene literary s������ �������� ���������D���� ��������� ��� �2��$2������� 
��������� ���6�����
+������2������Q���4���������������������<�����������R�����A19���:����.�'?�������Q������������
3���������4������������D����2��*���4�R�+�A1@��$������������.�����Q)����2���-������������ung
und Metatonie der Toneme im Slowenischen” (ibid., 4 pp.). In his Slovenska slovnica (1976)
the author published sonographic broad-filter images of all the Slovene literary phonemes (and
their main allophones).

In 1988 Tatjana Srebot Rejec (the author’s MA student specializing in phonetics) pub-
lished sonographic recordings of the Slovene literary sounds in the book Word Accent and
Vowel Duration in Standard Slovene, in which she confirms Vodušek’s thesis that the acute is
realized on two syllables, while circumflex is realized on only one, and also Bezlaj’s opinion
about the long stressed schwa in paroxytonic words. She provides many measurements of
vowel quantity. Elsewhere she disagrees with the author’s definition of the allophones [w] and
[   ] of the pheneme /v/ as consonants. In her opinion these are asyllabic vowels u (in a way this
is a reinterpretation of Škrabec). She also believes that Ljubljana literary Slovene does not
possess the opposition long vs. short vowels.

Srebot’s objections have been re�����������2���������2��?��2��)��������������J���������J

D

Slavisticna.p65 23.6.03, 12:49139



�C@ )�������5������������������9�I0@@�����������%�������


�����2-���������������������������������������������D2��2�2������������������4������D������
N������������ ������������ ��� ��������� ��D���� +���;�%���%�5�� )����4���� ������2���O� ��� �� �����
�M����������7. Gros in his book Samodejno tvorjenje govora iz besedil – Postopek za izdelavo
sintetizatorja slovenskega govora (2000, 149 pp.)). In the late 1990’s they were joined by
Hotimir Tivadar; his research is based on unclear sonographic recordings from Prague of uni-
dentified speakers. He, too, would like to change the current literary norm, based on the
author’s findings and included in the new Slovenski pravopis (2001).
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